V. g ]

Part#: IB10RIF3
Application: For 2005-2010 Jeep Grand Cherokee / 2006-2010 Jeep Commander

iIRunning Board Installation Instruction

PARTS LIST:

ltem | QTY Description ltem | QTY Description
#01 2 STEP BOARD( Driver+Passenger) #06 8 M8 Hex Nuts

#02 4 Mounting Bracket #07 4 M8 Clip Nut

#03 12 M8x30mm Hex Bolt #08 8 M6 Square Head Bolt

#04 20 M8 Flat Washers #09 8 M6 Nylon Lock Nuts

#05 12 M8 Lock Washers #10 8 M6 Flat Washers

Mounting Bracket

INSTALLATION INSTRUTION:

1.

7.
8.

Remove contents from box and check for damage. Verify all parts are present. Read and
understand instructions before beginning.

. Both front and rear brackets are the same for each side.

Locate driver side mounting locations on vehicle. (See Figure 1).

Attach brackets to underside of rocker panel as shown. Hand tighten.(See Figure 1 & 2).
For jeep Commanders only: To attack the passenger side front bracket, remove the four
bolts that secure the rear air and heat line shroud.

Remove the shroud to gain access to top mounting location on the bracket. After bracket is
installed and fasteners are tightened, reattach shroud with the four existing bolts previously
removed. (See Figure 3 ).

5. Insert square head bolts as shown (2 per slot, 4 per Step board) (See Figure 4 ).
6.

Attach Step board / Running board to brackets as shown. (See Figure 5). Align and tighten
all hardware.

Repeat Installation for passenger side.

INSTALLATION IS COMPLETE. (See Figure 6 ).

To protect your investment, wax this product after installing. Regular waxing is recommended to add a
protective layer over the finish. Do not use any type of polish or wax that may contain abrasives that could
damage the finish.

For Polished Finishes: Aluminum polish may be used to polish small scratches and scuffs on the finish. Mild

soap

may be used also to clean the Running Board.

For black finishes: Mild soap may be used to clean the Running Board.



https://www.carid.com/apg/

iIRunning Board Installation Instruction

Part#: IB10RIF3
Application: For 2005-2010 Jeep Grand Cherokee / 2006-2010 Jeep Commander

/..-—' e l‘-'*-.\.
f—— o 0] ._ SEE FIGURE 2 [T INSIDE OF ROCKER PANEL 6
© of] | 1)
— g & SEE FIGURE 2 w
N o T e (U
e | __"--—_"L._______,. o-€T 7/
:-E‘J__ _T_'I ,.-"r! ;____ —
P— s
\ FIGURE 2 4 e O - 1—-0_ .
e 3 - et e ==
\\.L ) ) ” ! g IJ"EB@"‘:‘I- o _— '-.pIHc;H“ELD i . _-F : {l\..l‘
: . {455 i DeerT (415(h
3040587 o= -©) -+ -{i-| ’ . o= ee)-----{= | --0)8e®
RNyl 1] AV g Q) -] [T]-.-
VEF—pm @ 1| > ap T
et N '] s 0 4'_": 3 o, W _: -
\ i N__)._, -&mﬂ} (3} J __n_J:_)
_FIGURE 1 N £
T vv*\‘/\/’\a’, ]
R
A
RS FRONT TIRE
WY
L
- _ +m
T ¥ i v
’
34,5 1.1 N\
< SEE FIGURE 2
i
g’g/ ] @
ﬁ, / PINCH WELD
FACTORY BOLTS - MEZ
( - j—— HEAT LINE SHROUD
/
@
i
& ,
FACTORY BOLTS Flgure 3

Figure 5+

'_ Figure 6

Discover other running boards and step bars on our website.



https://www.carid.com/running-boards.html

